

M2REG-BT-2324-ASM-SET 2-MATH

建議題解

$$1. \text{ 第 7 項} = C_6^n (ax^2)^{n-6} \left(\frac{1}{2x}\right)^6$$

$$= C_6^n a^{n-6} 2^{-6} x^{2n-18}$$

1A

代 $2n - 18 = 0$ ，可得 $n = 9$ 。

1A

$$C_6^9 a^{9-6} 2^{-6} = \frac{567}{16}$$

$$a^3 = 27$$

$$a = 3$$

1A

$$2. \text{ 通項} = C_r^{12} (x^5)^{12-r} \left(-\frac{2}{x}\right)^r$$

$$= C_r^{12} (-2)^r x^{60-6r}$$

1M

代 $60 - 6r = 0$ ，可得 $r = 10$ 。

1M

$$\text{常數項} = C_{10}^{12} (-2)^{10}$$

$$= 67\,584$$

1A

$$3. \text{ (a) 通項} = C_r^9 (2x^2)^{9-r} \left(\frac{1}{x}\right)^r$$

1A

$$= C_r^9 (2)^{9-r} x^{18-3r}$$

1M

當 $18 - 3r = 0$ 時， $r = 6$ 。

1M

$$\text{常數項} = C_6^9 (2)^{9-6} = 672。$$

1A

(b) 當 $18 - 3r = 2$ 時， $r = \frac{16}{3}$ ，不是整數。

展式中沒有包含 x^2 項。

1M+1A

$$4. \text{ (a) 通項} = C_r^8 x^{8-r} \left(\frac{2}{x^3}\right)^r$$

$$= C_r^8 2^r x^{8-4r}$$

1M

代 $8 - 4r = 0$ ，可得 $r = 2$ 。

1M

常數項存在。

$$\text{常數項} = C_2^8 2^2$$

$$= 112$$

1A

(b) 代 $8 - 4r = 3$ ，可得 $r = \frac{5}{4}$ 。

1M

由於 r 應為一非負整數， x^3 項不存在。

1A

$$5. \text{ 通項} = C_r^{12}(x)^{12-r} \left(-\frac{y}{2}\right)^r$$

$$= C_r^{12} \left(-\frac{1}{2}\right)^r x^{12-r} y^r$$

1M

代 $r = 8$ 。

1M

$$\text{所求係數} = C_8^{12} \left(-\frac{1}{2}\right)^8$$

$$= \frac{495}{256}$$

1A

$$6. \quad (a) \quad (1 - 4x)^n = 1 + C_1^n(-4x) + C_2^n(-4x)^2 + \dots$$

1M

$$\frac{n(n-1)}{2}(-4)^2 = 240$$

1M

$$n^2 - n - 30 = 0$$

$$n = 6 \quad \text{或} \quad -5 \quad (\text{捨去})$$

1A

$$(b) \quad (1 - 4x)^6 = 4096x^6 - 6144x^5 + 3840x^4 + \dots$$

$$\left(1 + \frac{2}{x}\right)^5 = 1 + \frac{10}{x} + \frac{40}{x^2} + \dots$$

1M

$$\text{所求係數} = 4096(40) - 6144(10) + 3840(1)$$

1M

$$= 106\,240$$

1A

$$7. \quad (x + 3)^5 = x^5 + C_1^5(3)x^4 + C_2^5(3)^2x^3 + C_3^5(3)^3x^2 + C_4^5(3)^4x + 3^5$$

1M

$$= x^5 + 15x^4 + 90x^3 + 270x^2 + 405x + 243$$

1A

$$(x + 3)^5 \left(x - \frac{4}{x}\right)^2 = (x^5 + 15x^4 + 90x^3 + 270x^2 + 405x + 243) \left(x^2 - 8 + \frac{16}{x^2}\right)$$

1M

$$\text{所求係數} = (1)(16) + (90)(-8) + (405)(1)$$

1M

$$= -299$$

1A

$$8. \quad (3 + x)^6 = x^6 + C_1^6x^5(3) + C_2^6x^4(3)^2 + C_3^6x^3(3)^3 + \dots$$

1M

$$= x^6 + 18x^5 + 135x^4 + 540x^3 + \dots$$

$$\left(\frac{2}{x} - 1\right)^2 (3 + x)^6 = \left(\frac{4}{x^2} - \frac{4}{x} + 1\right) (x^6 + 18x^5 + 135x^4 + 540x^3 + \dots)$$

$$\text{所求係數} = 4(18) + (-4)(135) + 1(540)$$

1M

$$= 72$$

1A

$$9. \quad (a) \quad \left(2x + \frac{1}{x}\right)^3 = (2x)^3 + 3(2x)^2 \left(\frac{1}{x}\right) + 3(2x) \left(\frac{1}{x}\right)^2 + \left(\frac{1}{x}\right)^3$$

$$= 8x^3 + 12x + \frac{6}{x} + \frac{1}{x^3}$$

1A

$$(b) \quad (3x^2 - x - 5) \left(2x + \frac{1}{x}\right)^3 = (3x^2 - x - 5) \left(8x^3 + 12x + \frac{6}{x} + \frac{1}{x^3}\right)$$

$$x \text{ 的係數} = (3)(6) + (-5)(12)$$

1M

$$= -42$$

1A

$$10. \left(2 - \frac{x}{2}\right)^7 = 2^7 + C_1^7(2)^6\left(-\frac{x}{2}\right) + C_2^7(2)^5\left(-\frac{x}{2}\right)^2 + C_3^7(2)^4\left(-\frac{x}{2}\right)^3 + \dots$$

$$= 128 - 224x + 168x^2 - 70x^3 + \dots$$

1M

$$\left(4x + \frac{9}{x}\right)^2 \left(2 - \frac{x}{2}\right)^7 = \left(\frac{81}{x^2} + 72 + 16x^2\right)(128 - 224x + 168x^2 - 70x^3 + \dots)$$

$$\text{所求係數} = 81(-70) + 72(-224)$$

1M

$$= -21\,798$$

1A

$$11. (1 + 2x)^3 = 1 + 6x + 12x^2 + \dots$$

1A

$$(1 + 3x)^4 = 1 + 12x + 54x^2 + \dots$$

$$(1 + 2x)^4(1 + 3x)^4 = (1 + 6x + 12x^2 + \dots)(1 + 12x + 54x^2 + \dots)$$

$$= 1 + 18x + 138x^2 + \dots$$

1M+1A

$$12. (1 + x)^m = 1 + C_1^m x + C_2^m x^2 + \dots$$

$$= 1 + mx + \frac{m(m-1)}{2}x^2 + \dots$$

$$(1 - 2x)^n = 1 + C_1^n(-2x) + C_2^n(-2x)^2 + \dots$$

$$= 1 - 2nx + 2n(n-1)x^2 + \dots$$

比較 x 及 x^2 的係數，可得

$$\begin{cases} m - 2n = 0 \\ \frac{m(m-1)}{2} - 2mn + 2n(n-1) = -9 \end{cases}$$

1M

$$\frac{2n(2n-1)}{2} - 2(2n)n + 2n(n-1) = -9$$

1M

$$-3n = -9$$

$$n = 3$$

1A

當 $n = 3$ 時， $m = 2(3) = 6$ 。

1A

$$13. (1 + 4px)(1 + qx)^4 = (1 + 4px)[1 + 4qx + 6(qx)^2 + \dots]$$

1M

$$= (1 + 4px)(1 + 4qx + 6q^2x^2 + \dots)$$

$$0 = 1(4q) + (4p)(1)$$

1M

$$p = -q$$

$$-40 = 1(6q^2) + 4p(4q)$$

1M

$$-40 = 6q^2 + 16(-q)(q)$$

1M

$$q^2 = 4$$

$$q = \pm 2$$

因此， $(p, q) = (-2, 2)$ 或 $(2, -2)$ 。

1A+1A

$$14. (a + 5x)(1 + 4x)^n = (a + 5x) [1 + C_1^n(4x) + C_2^n(4x)^2 + \dots] \quad 1M$$

$$= (a + 5x)[1 + 4nx + 8n(n-1)x^2 + \dots]$$

$$= a + (5 + 4an)x + [20n + 8an(n-1)]x^2 + \dots$$

比較同類項，可得

$$\begin{cases} a = 11 & 1A \\ 5 + 4an = 313 & 1M \\ 20n + 8an(n-1) = b \end{cases}$$

$$5 + 4(11)n = 313 \quad 1M$$

$$n = 7 \quad 1A$$

$$20(7) + 8(11)(7)(6) = b$$

$$b = 3836 \quad 1A$$

$$15. (a) (1 - x)^4 = 1 - 4x + 6x^2 - 4x^3 + x^4 \quad 1A$$

$$(b) (1 + kx)^9(1 - x)^4 = (1 + 9kx + 36k^2x^2 + \dots)(1 - 4x + 6x^2 - 4x^3 + x^4) \quad 1A$$

$$-3 = 1(6) + 9k(-4) + 36k^2(1) \quad 1M$$

$$0 = 36k^2 - 36k + 9$$

$$k = \frac{1}{2} \quad 1A$$